(3)

Rehll =5t

O B hiE R SRR R 2R
A (EA7 . TH)
K THBIZE A | PEHEE | AR B | BATE B/A%
1 B o B R B B 5,681,356| 6,924,238 2,382,499 41.9
2 fiE OB KON F OB 1 0 0 0.0
3 B o & 10 0 0 0.0
4’ B3 i 4 16,684, 772| 16, 105, 142 5, 848, 324 35. 1
5 JE I A 1,310 77 77 5.9
6 f A & 1, 762, 305 1, 342,033 601, 348 34.1
7T ik 4 8, 308 175, 276 175, 276 2109. 7
8 i I A 185, 403 82, 737 67, 053 36. 2
% A a F 24, 323,465 24,629,503 9,074,577 37.3
% (EA7 : TH)
K THEBAE A | KHEE B | $UTER B/A% | W &
1 A % # 178, 033 81, 416 45.7
2 R B & 16, 379, 128 5,905, 893 36. 1
3 HEREFERREERWM A 7,341,486] 2,190, 443 29.8
4 d& | FOE MO & 5 0 0.0
5 R @/ F ¥ & 259, 404 101, 136 39.0
6 % & B X % 1,310 77 5.9
/N & #y 50 0 0.0
8 & 53 t 4 150, 920 56, 044 37.1
9 ¥ i 2 13, 129 0 0.0
% sl & 7 24, 323,465 8,335, 009 34. 3
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A (EA7 . TH)
K THBIZE A | PEHEE | AR B | BATE B/A%
L 1% s e B R OR BB 2,532,840 2,549,163 997, 448 39. 4
2 A % 2, 546, 150 2, 546, 150 1,704, 370 66. 9
3 f ik 4 2, 750 9, 454 9, 454 343.8
4 Gk I A 88, 260 1,275 1,275 1.4
% A = g 5,170,000{ 5,106,042 2,712,547 52.5
. (EA7 . TH)
F THEBAE A | KHEE B | $UTER B/A% | W &
1 # % # 62, 053 27, 434 44. 2
2 gﬁ ﬁ E %;f ﬁ % ff; 4,987,445 2,088, 377 41.9
3 % & =F # 112, 606 47, 000 41.7
4 5 X i 4 5, 145 1, 690 32.8
5 F fii # 2, 751 0 0.0
% sl & 7 5,170,000 2,164, 501 41.9
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A (EA7 . TH)
K THBIZE A | PEHEE | AR B | BATE B/A%
1 53 B 4,762,058 4,869,713 2,414,475 50. 7
2 S e kA S 28, 338 12,921 11, 375 40. 1
3 B o & 4,117, 809 3, 359, 826 1, 753, 793 42. 6
4 X K e R & 5,041, 984 5, 338, 083 2,217, 556 44.0
5 W X i 4 2, 669, 786 2,492, 859 1, 038, 690 38.9
6 Bt JEE I A 1,317 212 212 16. 1
T f A 4 2, 848, 907 1, 343, 144 1, 343, 144 47.1
8 ik 4 8, 997 424, 650 424, 650 4,719.9
9 F I A 804 1,508 1,210 150. 5
% A a # 19, 480, 000| 17,842,916 9,205, 105 47.3
e (EA7 . TH)
K THEBAE A | KHEE B | $UTER B/A% | W &
1 & % # 380, 258 159, 337 41.9
2 R B m N 17, 553, 599 7,238, 311 41.2
3 M M X B OF OE 1, 205, 308 501, 569 41.6
4 K & B X & 330, 000 212 0.1
5 B #y 30 0 0.0
6 & 53 t 4 3, 003 2, 547 84.8
7T ¥ i 2 7,802 0 0.0
% sl & 7 19, 480, 000 7,901, 976 40. 6
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A (EA7 . TH)
K THBIZE A | PEHEE | AR B | BATE B/A%
O i W o I O~ W = 50, 000 0 0 0.0
2 fiE OB KON F OB 10 37 37 370. 0
3 B o & 379, 700 458, 950 0 0.0
4 Bt JiE I A 22, 275 24, 476 24, 476 109. 9
5 i A 4 441, 606 0 0 0.0
6 f ik 4 1, 408 1,883 1,883 133.7
TG I A 1 0 0 0.0
8 ifi & 758, 000 0 0 0.0
% A a F 1, 653, 000 485, 346 26, 396 1.6
e (EA7 : TH)
K THEBAE A | KHEE B | $UTER B/A% | W &
IO o T g e i ¢ 1, 426, 656 493, 619 34. 6
2 N f& #y 224, 925 107, 952 48. 0
3 ¥ i # 1,419 0 0.0
% i a 7 1, 653, 000 601, 571 36. 4
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AN (BA7 : T-H)
K THBIZE A | PEHEE | AR B | BATE B/A%
i H OBF & Y F OB 10 4 4 40. 0
B o & 266, 720 279, 588 0 0.0
i) JiE I A 278, 366 283, 058 281, 810 101. 2
o iEld 4 4217, 403 434, 991 434, 991 101. 8
E I A 1 0 0 0.0
il & 482, 500 0 0 0.0
% a g 1, 455, 000 997, 641 716, 805 49. 3
k.t (BA7 : T-H)
K FHEEAE A | KHWERE B | BUTR B/A% | W B
g PTHTI Q= A i = 911, 800 176, 365 19. 3
7N f& # 140, 051 68, 789 49. 1
¥ fii # 403, 149 0 0.0
% & 7 1, 455, 000 245, 154 16. 8
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% A (EA7 . TH)
K TREBE A | FEWE | WA B | HUTE B/A%
L fE B & O F B 71, 063 37, 812 37,812 53.2
2 f ik o 1,437 3, 166 3, 166 220. 3
SI I A 500 107 107 21. 4
% = 7 73, 000 41, 085 41, 085 56. 3
A (EA7 : TH)
K THEIBAE A | KHEE B | $UTER B/A% | W &
1B B % # 31, 020 11, 896 38.3
2 & X sl 4 41, 000 0 0.0
3 7 fii # 980 0 0.0
% a g 73, 000 11, 896 16. 3
(3 FnICAE9 A 30 H BiAE)
@ BEmELLT e b LM 2 W SR =5
% N (HAL - TH)
K THREEE A | FEWRE | LA B | BUTE B/A%
1 A 4> 800, 000 720, 000 720, 000 90.0
% a 7 800, 000 720, 000 720, 000 90. 0
ik tH (HAL 1)
K THBAE A | KHERE B | $UTER B/A% | &
JR -3 £ # 800, 000 720, 000 90. 0
% & # 800, 000 720, 000 90. 0

(B FIIC4AE9 A 30 H BLLE)
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AN (BA7 : T-H)
K THBIZE A | PEHEE | AR B | BATE B/A%
1 B JE I A 35, 437 16, 249 17, 053 48. 1
2 filF OB KON F OB 1 0 0 0.0
3 R X t 4 12, 007 12, 420 0 0.0
4 & A 4 17, 500 0 0 0.0
5 ik 4 3, 053 4,037 4,037 132. 2
6 Fk I A 2 1 1 50.0
% A = 7 68, 000 32, 707 21, 091 31.0
ket (BA7 : T-H)
K FHEEAE A | KHWERE B | BUTR B/A% | W B
1 A ES # 43, 472 7,982 18. 4
2 WM JE # 22, 117 0 0.0
3 G X t 4 65 10 15. 4
4 ¥ it # 2, 346 0 0.0
% sl = 7 68, 000 7,992 11.8
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A (BiA7 0 FH)
K TREBE A | FEWE | WA B | HUTE B/A%
%) PE I A 6, 160 6, 156 5,944 96. 5
2 A OB &Y F OB 1 0 0 0.0
3 2l 4 66, 831 69, 009 69, 009 103.3
4 Gk I A 8 11 11 137.5
% A &) 5 73, 000 75, 176 74, 964 102.7
%M (Bif7 0 FH)
K TR A | ZHEEB | $UTR B/A% | K &
L PE 2 742 84 11.3
2 7T i # 72, 258 0 0.0
% i = 7 73, 000 84 0.1

(5 FRoC4E9 H 30 H BIAE)
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A (BiA7 0 FH)
K TREBE A | FEWE | WA B | HUTE B/A%
1 PE I A 1,276 801 117 9.2
2 A OB KON F BB 1 0 0 0.0
3 2l 4 9, 722 10, 343 10, 343 106. 4
4 Gk I A 1 1 1 100. 0
% A &) 5 11, 000 11, 145 10, 461 95. 1
%M (Bif7 0 FH)
K THEBE A | HAEEE B | BUTER B/A% | B
1 PE # 938 151 16. 1
2 G B3 tH & 60 0 0.0
3 7 it # 10, 002 0 0.0
% i = 7 11, 000 151 1.4

(S FnoTAE9 A 30 H BILE)
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A (BiA7 0 FH)
K TREBE A | FEWE | WA B | HUTE B/A%
L AR & O F R 1, 250 0 0 0.0
2 & el &> 43,745 44, 292 44, 292 101.3
3 I A 5 7 7 140. 0
53 &) 5 45, 000 44, 299 44, 299 98. 4
O (BA7 - FH)
K TR A | ZHEE B | $UTR B/A% | K &
L JE 2 101 33 32.7
2 G B3 & 100 100 100. 0
3 7 it # 44, 799 0 0.0
% = 7 45, 000 133 0.3

(T FATEAE9 A 30 H HAE)
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% A (BA7 : T-H)
K TREBE A | FEWE | WA B | HUTE B/A%
1 B JE I A 4, 388 134 57 1.3
2 f ik o 1,212 1,973 1,973 162.8
% A = 7 5, 600 2,107 2,030 36. 3
%k (BAZ : T-H)
K FHEEE A | KHWEEE B | BUTR B/A% | W B
1 A % # 90 0 0.0
2 B PE # 5,176 2, 310 44. 6
3 X (i 4 100 0 0.0
4 7T fii # 234 0 0.0
% sl a g 5, 600 2,310 41.3
(S F0e49 H 30 H BifE)
@ BLHA HMEEX R E
A (Al + 1)
== THREAE A | EWRE | IUAEE B | BUTE B/A%
LW JE I A 1,792 44 12 0.7
2 fEld 4 708 818 818 115.5
% A & 7 2, 500 862 830 33.2
% t (HAL - 1)
K THBA A | KHERE B | $UTE B/A% | &
1 & % # 99 0 0.0
2 WM JE 7 2, 199 772 35.1
3§ 53 s 4> 100 0 0.0
4 T fii # 102 0 0.0
% t = 3 2, 500 772 30.9

(B FIC4E9 A 30 H BL/E)
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A (BiA7 0 FH)
K TREBE A | FEWE | WA B | HUTE B/A%
1 PE I A 3, 000 77 16 0.5
2 & el &> 3, 400 4,675 4,675 137.5
% A &) 5 6, 400 4, 752 4,691 73.3
ikt (BiA7 - FH)
K TRBGE A | ZHEEB | $UTR B/A% | K &
1 # % # 97 0 0.0
2 Bt PE # 5, 630 293 5.2
3 &h B3 t & 100 0 0.0
4 ¥ fifi # 523 0 0.0
% i = 7 6, 400 293 4.6
(4 FITAR9 H 30 H BLFE)

@ F i Y PE X RIS R

A )
== THREAE A | EWRE | IUAEE B | BUTE B/A%
LW JE I A 840 5 5 0.6
2 fEld 4 1, 060 1, 858 1, 858 175.3
% A & 7 1, 900 1, 863 1,863 98. 1
% t (HAL - 1)
K THEEKE A | KHWEE B | BUTR B/A% | W B
1 # % # 87 0 0.0
2 WM JE 7 1,613 35 2.2
3 & 53 s 4> 100 0 0.0
4 T fii # 100 0 0.0
% t = 3 1, 900 35 1.8

(B FIC4E9 A 30 H BL/E)
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A (Hifir : F1)
K TRBEE A | REHEEE | AR B | BUTE B/A%
1 PE I A 4,926 5,697 1, 000 20.3
2 iR el % 14, 874 17, 644 17, 644 118.6
% A = 5 19, 800 23, 341 18, 644 94. 2
% tH (HLA7 - FH)
K TRBGE A | ZHEEB | $UTR B/A% | K &
1 # % # 88 0 0.0
2 W PE 2 5,293 747 14. 1
3 &h B3 t & 100 0 0.0
4 7 it # 14, 319 0 0.0
% i = 7 19, 800 747 3.8
(4 FITAR9 H 30 H BLFE)
@ & L AR ORI R R =R
A (Al + 1)
K THRBE A | REHEE | IUAGER B | HUTE B/A%
1 JE I A 216 90 45 20. 8
2 i & 184 96 96 52.2
% A = 5 400 186 141 35.3
% x| (AL . TH)
K THBKE A | XHWHEB | $UTER B/A% | W &
1 % # 3 0 0.0
2 W JE 7 200 0 0.0
3§ X t & 20 0 0.0
4 ¥ fi # 177 0 0.0
% i = G 400 0 0.0

(B FIC4E9 A 30 H BL/E)




